Recitaion ¥

Over head : Aaq,mda
- Psets: o look@ solns o Omh‘mof
o Staks A mean: eddian: o exevcises
B man: meddan: _ . CooUw\g
@ * handouwt & end o (?2) Sl sovA
-QUIZ: . . !
- lofis 7:30-9:30 PM o psets

* confyiet [0/lb 8 -10AM
« ewnadl stAfF of feason
o F ,Wt’w'ous (y evnoled —coorm | |
— Fead oack Form

= Questians Trom lecture, / anything Yo wort reviened .

= et -
> hlogn bound on  T(n)=Tnl2)t 21 s het ﬁgh’r.
—~ Yes Yo can prove OCnigh) -

— mlssmg pmoFm“ ,(Z.(hl@h) e«imyossib!e.. |

reak runtime  B(h) ate
= why ? bic g does nat add N per step | ® YQUgtc

no

\ovav'dh\/‘s. Mgt

> O0PS - my qvaaloal'es.
log (£ = 6(19Cq0n)) = Pln) = 6 (9(m) 1 FALSE
\03(2"‘) vs. l(3")
h l03(2) nl@(z) Jm‘

Vs 6 - BQT you need to convert loock-.
. YO conA canced Const vedves blc
.'-YYIV',-'YYE;"

Wm ave aofug/f? ec,




Shelt Sort

1lea: some Sors are veny fast for weav'ly Sovted data.
we can pearly Sovkolota realluy Past 1en pass off e d ot

sort even nt ehemenct, n decreases eaghhtime .
~lets ‘eloments make biggw Uumpj’dpmm( covreck positia)

vaMww']" use columns (U2 34l Lo sevd He cdlumns
Sb - '

gap sequence Wattrevs!
n

q © 23 ST (32 3ol ---

a,ljowﬂﬂm on wikipedia Y,

wost case  Q(n?) ] gap seg /| 2 Y 8....
best- 6(nleg*n)

wovks well on read oata .

Selection Sorts
iolga : Selectan element , remove it, repeat -
iFyon select ina /ogipw{ manrey (MOX /wn )
You can SM’! |

variables / apﬁom : STorage Olata. sthructure
selettrion ontena .

. |
Struct | anmy oo vg;'?ad hea W
selechon min mox  minh Win v

ﬂr&e‘ Uetv oM o) o(1gn) 0(togn)

mak | 0m®)  0Y)  Onign)  (O(nigh) |




EXERCISES

I. state a srimation 7o which 1nsevhan govi wiewloh ke aéyoeL oloice of s/t .

2. ok 3 the worst possible sovi-you canthink oP? each oporoti must be
PYDMC’\'IV‘QC'Q no wle (NE3) - R _

3. Onalyze He vuntimes of inseyHan + nmauge sevt on (15 +hatare
a. Sovied

b. evese—sovied

4 how dees inswon Sotrs pantime olhange F you uge o linkeol list?

5 waat (3 e vuntimg of fire ’%\lowima cgo(,g 2 @[ )

Hhn changt the code to wnprove +he vunhme .
you moy assume ald elopiects are Z O . |

dof mergesort (AD: def orgs (kB C):
£ len(R) == 1 : refum A~ 0z -
M= lIeM(A)/z ; . 020 o
2z len(R) *[-1 )
C= len(n)*xg—zj 7 while b<hlen(fc))and
RL:mid] = me sort (K[ - mid _echenlc):
cf :mm)—mfzﬁj = merge sovr(ALmid+1:]) s Bkbjifg{a?j
refurn mege (A 8 C) bﬁj:.,‘
st : Afa)- ¢fel

C4~

cer . QAR



L. convert Hae heaw | :
finte its a rep Fe septatron
3 |
(5) (18] 3
OO
() ODC
1. myﬂéﬁﬂzﬁﬂﬁ\ﬂj

PN’GH‘\‘ O’F X - _Pawﬂ+(Y) :
V\'QWV (x) : V’:?"H'[Zf) :

depthn of P\za(o :

3. restore +he MAax-heap pro pet/ﬂ/]

N {29

zZ s
ooNCRC
2) OODE®

Q. gut cods s oy Pomnebsife (or take a handout
%: I'Mpm P;Ieﬁ[ (). r/yhf[ 1) and parcat( ) )
b. compLie Hu misSing codlt in heapy |
ophinal : What cecle wonld go here Fov o min-heap ?
e. modify heapify 10 take a lngihn arguiment.
A . implomendt  duler -max
¢. imple mawt Juap Sovt,
£ OlAaMm/;a:a,r o Lamauer owtlol vduiol Lo ds o i place
fiom an aﬁomfaﬂ ans). eop nf

i€yon chanat e method. signotures —mate suretp alter +he +ests acord {nﬁ/y/

o




